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Question Booklet with Answer Key
(English-Hindi-Punjabi Version)
Test Held on Sunday 16.7.2023 (Morning)



ENGLISH- HINDI VERSION

Direction (Q1-Q2): Mark the correct synonym of the given word out of the four options:
1. Jaded ‘

A) Tired B) Thrilled C) Terrible D) Gay
2. Spurious
A) Precious B) Fake C) Gloomy D) Bitter
Direction (Q3-Q4): Mark the correct antonym of the given word out of the four options:
3.  Uncouth
A) Courageous B) Weird C) Dark D) Cultured
4.  Wary
A) Arrogant B) Juicy C) Careless D) Weak
Direction (Q5-Q6): Mark the correct preposition, out of the four options, to be filled in the
blanks.
5.  Heedless consequences, Ramesh wasted his precious time in useless debates.
A) with B) of C) at D) upon
6. Thisjobisbeset difficulties.
A) of B) with C)on D)at

Direction (Q7-Q8): Choose the correct meaning of the proverb/idiom from the given options.
7.  To be Argus eyed
A) Tobeobservant  B) To be pretender C)Tobeacoward D) To beanidler

8. Togiveventto
A) to express B)to cause trouble C)to lose courage D) to cut something into pieces
Direction (Q9-Q10): Mark the word that can be substituted for the given words/sentences out of

the given four alternatives.
9.  That cannot be expressed in words:

A) Indelible B) Ingrate C) Ineffable D) Inexorable
10. A lengthy and aggressive speech addressed to a large audience/assembly.
A) Hullabaloo B) Cacophony C) Pandemonium D) Harangue

11. The theme of 52™ National Safety Week is:
A) Nurture young minds — Develop Safety Culture  B) Safety for all
C) Our Aim — Zero Harm D) Sadak Suraksha, Jeewan Raksha
52 -3 TG TRAT IAIE T 0 2
A) T WRasE qow - g el @ Awle sen B)wE g

C) =910 WA - 34 afd ‘ D) 4% W80, e &
12. For the egf:twork of roads for Chandigarh, referred as ‘circulatory system’, Le Corbusier had
proposed:
e J weE @ W B forg A aRewRe 93’ el o @ N it o T 1
A) 8Vs B) 7Vs . C)6Vs D) 5Vs
13.  Who is credited for inventing the first crude electric vehicle?
A) Leonard Forbes B) Paul Lapstun C) William Morrison D) Robert Anderson
T FE ST amT @ snfreer @ S R e #
A) @ B B) uier A C) faferaw #iRas - D) Ua¢ VstE

14. Green Muffler is:
A) Plantation along roadsides to reduce noise pollution B) A method of afforestation

C) A technology for reducing air pollution D) A process to reduce vibration
{7 AR 2

A) & TR W T D g asw @ 9F o 9 e B) Rl 9t R

C) 9 Y39V & ¥ & & g gl D) #iec &l &9 e wt gl

15. Chandigarh was inaugurated by Dr. Rajendra Prasad, first President of India on:
A) 7" October 1956 B) 7 October 1953 C) 23" March 1953 D) 23" March 1956
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B S YR, MR B UEe USUR, 3 WU & I3 &9 fear o

A)7 JEFT 1956 B)7 JECE 1953  C) 23 99 1953 D) 23 W 1956

The rationale of ‘Seat-belts” primarily thrives on the principle of:

A) Inertia B) Gravitation C) Friction D) Doppler effect

A Seel’ o iR HeEar e Rere W aa 39 2

A)vied B) & C) ooy D) Sfer ader

Fundamental Duties were included in the Indian Constitution in:

A) Article 14 and 15 of Constitution of India B) Fifth Schedule of Constitution of India
C) Article 51A (Part IV A) of the Constitution of India D) The Indian Independence Act
S AU § A9 e e ¥ alen Rl e #

A)YRE & AU ® FTERT 14 3K 15 B) W & WiaenT 9t diedt ses

C) ¥RT & WU & FTBT  51-T (¥R IVY) D) HRea e st

The deficiency of which vitamin causes anaemia?

A) Vitamin D B) Vitamin B, C) Vitamin B, D) Vitamin By,

g oo =t @ sFifian eian =

A)faafiT S B) faetRe &, C) faerfem /1, D) faetf i,

Operation My Saheli’ launched in September 2020 aims to:

A) encourage self-defence education among girls B) boost awareness against child labour

C) boost the security of women passengers in trains D) none of the above

e 2020 ¥ JRN o WA TR A F 9AST B
A) TRl =t - fen @ R denf @ B) 1ol TS1gdl # el &) qEE

C) ermfsal ¥ wfgen wf>al & geen seFr D) 3udad ¥ @ #iE o 78 2

The State bird of Chandigarh is:

A) Northern Goshawk  B) Black Francolin C) Peacock D) Indian Grey Hornbill
FSHIE w1 U9 e B

A)I04 S B) ST TR C) W D) 9RAHE ERR eR
Ganesh Chaturthi, as per Indian national calendar is celebrated on:

A) Bhadrapada Shukla Chaturthi B) Shraavana Shukla Chaturthi

C) Ashvin Shukla Chaturthi D) Kaartik Shukla Chaturthi

WA & AL DA D AR T a9 o F41E T 2

A) ¥EUE TE Aga B) 5rEvT e =gl

C) a7 gaat agd D) st ot agen

Mirror which is used as rear view mirror in vehicles is:

A) Plane B) Concave C) Convex D) Inverted

St ¥ T ¥ G 9 3K e @ R @ R e 2, 9w 2

A) TR B) sraeet C) o D) I&eT

India’s rank in Global hunger Index 2022 amongst 121 countries is:

A) 107" B) 104" C)101* D) 99"

121 3 F RS T T G G 2022 ¥ ¥ R _

A)107 -4 B) 104 -dt C) 101-4dt D) 99 -af

Before Delhi, which of the following was the capital of India during the British India?
A) Bombay B) Calcutta C) Karachi D) Lahore

el & W, Aty wie & a9y wRa & awuE o

A)Sag B) Setsh C) = D) =k

Which of the following has won BBC Indian Sportswomen of the year 2022 Award?

A) P.V. Sindhu B) Koneru Humpy  C) Smriti Mandhana D) Mirabai Chanu

o 2022 Ft BBC W #fgen Raei®! &1 R B ¥ o
A)q AL R B) &% 50t C) =it s D) Hirg =g
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The value of 0.75 x 0.75 + 0.25 X 0.75 x 2 +0.25 x 0.25 is:
0.75x0.75+ 0.25 X 0.75 x 2+ 0.25 x 0.25 & A 2 :
A) 6.75 B) 1 C) 0.625 D)2

In a test 51% students failed in English and 45% failed in Mathematics. If 21% failed in both
subjects and 169 passed the test, then how many students appeared in the test?

Tar Qe ¥ 51 % et et ¥ O 7v 9K 45 % et wim ¥ Bt go1 Al 21 % A o
¥ B Y A 3R 169 et ¥ I g A, A Fre Rt T qdeor fen
A) 760 B) 625 C) 676 D) 400

A sum of money amounts to T 2750 in 2 years at 5% per annum. At what rate the same money
amounts to 3000 in 2 years?

T R 5 % Ui 9§ & St W 2 O ¥ 2750 T B SN 21 Ia 8 Uil e W oW 2 ot A
3000 T B GG

A) 12% B) 10% C) 15% D) 20%

If a sum of money doubles itself in 3 years at compound interest, then in how many years it will
be four times?

AR v TR Thafe oS W 3 T AR A Wl 2, @ 78 e ot F e 8 S

A) 5 years (¥r1) B) 6 years (91 C) 3 years (91<1) D) 4 years (¥1e1)

A bought a radio for ¥ 500 and sold it to B at 5% gain. After sometime B sold it to C at 5% loss.
What is cost price of the radio for C?

A ¥ 7 R 500 T ¥ @l 3R 5% B oW | B 39 I g wm R e B C A

5% B W T a1 ¢ = fow R @ e e
A)T 498.75 B) ¥375.60 C) 2370.25 D) ¥ 480.60

The Average temperature of the town in the first four days of a month was 58 degrees. The
average for the second, third, fourth and fifth day was 60 degree. If the temperatures of the first
and fifth day were in the ratio 7 : 8, then what is the temperature on the fifth day?

A) 64 degree B) 62 degree C) 56 degree D) None of the above

Y B TES TR B e w0 sew A 58 B an e, 9, Y sk wEd e 9 siea 60
il 9 AR TR ol YE R & AR @ S 7:8 ®, O Ul R R A e R

A) 64 TS0 B) 62 Tt C) 56 f33 D) 3w A ¥ FE A

A can do a work in 16 days. If B’s speed is double than A, then in how many days they together
can do the work?

ATE TR H 16 B ¥ X g 21 A B I AR A 9 AT 7, N I I e 39 T @
oo R & o e B

A) 5% days (&) B)3% days (f&+) C)4% days (&) D)Z% days (f&=)

While covering a distance of 24 km, a man noticed that after walking for 1 hour 40 minutes, the
distance he covered ; of the remaining distance. His speed in meter per second was

U HFANAX A VAT FAR, AR I F1dT 40 e o s @ m Q@
T g0 2 A T o B W o R A ¥ o A &

A) 1-2- m/seconds B) 2m/seconds C)2 % m/seconds D) 5m/seconds

In what ratio two types of tea costing T 15 per kg and ¥ 20 per kg are mixed so that cost price of
the mixture is ¥ 16.50 per kg?

15 T 9 e ol 20 v gy frdom & wEE S @ T A @ e @ e s
¥ firen Rar wen ® ifen Fisor Y e 1650 €9 gfe fRelm B s 2

A)5:6 B)4:3 6.7 D)7:3
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Naunihal was asked to multiply a number by 7/5 but by mistake he multiplied the number by
5/7. If his answer was 144 less than correct answer, the number was

FAET o T A W 7/5 ¥ A B F HEN T A R I T A I OGS R 577 d
T & fean Afe e IR @S9 & IR 144 N A, o gen Ff

A) 210 B) 310 C) 284 D) 264

Each student of a class deposited so many rupees in subscription for Picnic, as many as the

students were in the class. If 3 teachers deposited together ¥ 450 then total subscription was
T1350. What was the number of students in the class?

U HUl & T G 3 ke @ o o= ¥ oo v i wan e s ¥ Rt o
afe S sreAel = ot 450 T T SRAI W S ISl 1350 SO g e ¥ Rl o
g faat A

A) 35 B) 40 C) 30 D) 45

What could be the maximum value of Q in this equation? ~ 5P9 + 3R7 +2Q8 = 1114

T GHE QT A Hed R B Gl 8 SP9 + 3R7 +20Q8 = 1114

A)9 B)4 C)8 D)6

How many times are the two hands of clock at right angle in a day.

T o F 9t = @ o e 9K e ) i &

A) 24 B) 48 C) 44 D) 22

Calendar for the year 2014 will be same for the year.

9 2014 T B a4 & fog @ B

A) 2018 B) 2020 C) 2022 D) None of these

A 600m long train is running at a speed of 108km/hr. In how much time will it cross electric
pole.

600m TR WIS 108Km/hr =i TRIR ¥ 21 W& 31 98 e o 3 el @ = = wig o
S

A) 35 seconds B) 10 seconds C) 20 seconds D) 18 seconds

The technology used in the electronic printer is called?

A) Micro encapsulation B) Micro technology  C) Micro array D) Micro Millimetric
ToagiE e § ygea ORE = s &

A) TE RGO B)9&T Fenfireht C) &sn § D) g&w faferife
Clock speed, the speed at which a processor executes instructions, is measured in

which equates to one million ticks of the system clock.
A) kilobytes (KB) B) milliseconds (ms) C) megahertz (MHz) D) kilo-bits-per-second (Kbps)

ol i R, B 1 W IR SR o SFERW @ B A % W W @, o faeew
FolE & U e eefes & s &

A)f&disEes (KB) B) Rife@&=ed (ms)

C) e (MHz) D) ferett - faem-gfer ¥=vs (Kbps)

When you cut or copy a block of text in a word processor, it is placed on the .
A) desktop B) style sheet C) ruler D) clipboard
S 39 9SG § ST W (G Hl HE VAT B FRA 2, TW R T

A) ¥EFCTd B) ®EeEie C) &R D) foreruard
An unsolicited e-mail message sent to many recipients at once is a .

A) Worm B) Trojan horse C) spyware D) spam

Teh 9K ¥ 9gd ¥ Tl Al JERT S-Am Eew | ©:

A)atd B) A5 B4 C) ¥z D) =iy

Convert the Hexadecimal number 5A to Binary?
AR IR SA T WEAQ F qES T
A) 01011001 B) 01001010 C) 01011010 D) 01000100
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In ‘https’, the letter ‘s’ stands for:

‘hitps’ ® s’ 3BR fora = ara W@t fomar T 2

A) Standard B) Secure C) Simple D) Smart
Which of the following 1s NOT TRUE?

eifea & @ wiv-ar 98 T8 e

A) RAM means Read Accumulator Memory

B) MICR means for Magnetic Ink Character Recognition System

C) ROM means Read Only Memory

D) ASCII means American Standard Code for Information Interchange

In MS-WORD, the following is not essential component to perform a mail merge operation?

A) Main document B) Data source C) Merge fields D) Word fields

MS &€ &, 361 ol NI T & 0 Fi-91 IEwE aeE T 2

A) T TEES B)3reT & C) Wl Hesw D) T8 WHiess

In Microsoft PowerPoint, the PowerPoint view that displays only text (title and bullets) is:

A) Slide show B) Slide sorter view C) Notes page view D) Outline view
AFHETC TECATES A, TECARE Wl had oo (T5ed 3K Ioied) ol Teiia ol 8, 98 8
A)TEE W B) T1SS Wict 4 O AT o D) JITART .

Which of the following statements is correct?

A) An excel file may contain only one pivot table

B) An excel workbook may contain only one pivot table
C) An excel workbook may contain multiple worksheets
D) An excel spreadsheet may contain multipie workbooks
forifera % A -9 wEE 98 2

A) TR HEd | Tad U [Uae 39e B ahel @

B) UsiEl Tohge & Shadl Uah fiae Caw B aehel B

C) TR Ieg ¥ g I @ w2

D) TR Sedic ¥ sgfay gwged 8 gel 3

Instructions for ((Q.No. 51 to 54) are based on traffic signs. Choose the correct options:-

e (we= 519 s4aw & fog) e el w srenRa 21w fawen o o= &

7

52.

53.

54

A) Breadth limit (<ierg G B) Axle weight limit (ToFaa ¥R -4T) =
C) Height limit (318 4FT) D) Weight limit (4R 4i=)

A) Compulsory keep left B) Compulsory turn left ahead i
C) Park this side D) Compulsory turn left

A)IE TH B SR 3 B) ARl A A5 AR B

C) T 3R IS = D) & W HEE €

A) No parking B) No entry

C) Restriction ends D) None of the above

A) wifeha w4 2 B) 93w & 2

C) I @ T B D) Sudaa ¥ ¥ wIg o 7

A) Right reverse bend B) Right hair pin bend

C) U-tumn allowed D) No U-turn

A)T IefeT A B)a¥ 5% A

C) U-Hiis &t e 8 D) U- 9 afvta
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One of the following is a Mismatch?

fifre & ¥ v R B
A) Left Reverse Bend B) Nan'ou bndze CL .Slaszgmd mtersccuon D) Heospital ahiead
T IecT Hig T S

Allowing unauthorized persons to drive vehicles carries the following penalty under the Motor

Vehicles Act:

A) Caution by the Traffic Policeman

B) A fine which may extend to five hundred rupees

C) Imprisonment for a term which may extend to three months, or with fine which may extend
to one thousand rupees, or with both

D) Imprisonment for a term which may extend to two months, or with fine which may extend to
one thousand rupees

Y T I AT T IR I A A TET SRS B e ST 7 B g 2
A) FrEE g 3R A

B) Ulel | T9Y T T ST

C) T st & forg iz R 3 w8 B forg weran 1 weven 2, ok S &y R v wow o
T TERN O kel B, YAl S B

D) v sath = for &2 folt 2 w8 & forg sgmn o wehen 2, ol 9 @ 91w R v ToR s
T Sl o T 8

Mandatory Road Signs are obligatory and violation of these attract heavy fines and punishments.
These are generally:

A) Rectangular in shape with red border B) Rectangular in shape with blue border
C) Round in shape with red border D) Round in shape with blue border
HRAYT T e S B 3R I RN sERen A W AT R ST B w21 Y wweEe
A) @i B O SRR T & B) el IR 91 FAIHR e &

C) Wit =R aTet MR TF B D) At TR Ot MR W &

A traffic sign in triangular shape with red border, filled with white colour and a small and a
black cross in between means:

A) No Parking B) Cross Road C) No stopping D) Road ends
Wmﬁﬁwﬁﬁﬁﬂmwmaﬁﬁﬁﬁ W WhE W W B AR e W WY ik
e P B, TR WG B

AUFTFT 2 B)HE WwWF C) T 9+ B D) 9% @ B &

The Traffic offences, penalties and procedure are mentioned under which chapter and sections of
the Motor Vehicles Act?

A) Chapter X : Section 140 to 144 B) Chapter XI : Section 145 to 164

C) Chapter XII : Section 165 to 176 D) Chapter XIII : Section 177 to 210

A JIT, T AR wERR A Ieew A 9T AR & Ter i@k aws @ s
forar wmr 2:

A)ATT X : 140 A 144 UR B)3w XI: 145 ¥ 164 uRi¥

C) =X XI1: 165 ¥ 176 W D) FweX XIIT: 177 ¥ 210 &R

Provision for necessity of licence for conductor of stage carriage is contained under Motor
Vehicle Actin :

AN AITT B HIFL D Y WEdE N AEvEd & frg srEe Ao o aiEs 9 e ok 3
&I TE &

A) Section 28 (/T 28) B) Section 29 (W 29)

C) Section 39 (a1 39) D) Section 42 (U7 42)
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Which vehicles should be insured?

A) Only new vehicles B) All light and heavy vehicles

C) Heavy vehicles only D) Only vehicles being driven by drivers
forer are=l =t A BT AR

A)Had U GIE B)®i geeh 3N W AEwT

C) Had 91 A D) &9 Terehl g-1 Tl TR e

What does this STOP sign mean at an intersection if used with a thick white line paimnted across

part of the road?

A) Stop in any safe place so that you can see to give way to other traffic, before continuing

B) Stop just before entering the intersection and then give way to other traffic, before
continuing,

C) Stop at white line & give way to other vehicles coming from other directions, before
continuing

D) Stop only after you have crossed the intersection

e W T STOP R @ = Jfum 2 3 39 & TN 959 & Us 90 & 9R de & Al

whe e died ol WIg:

A) T o oM WM W EE A 3 Te ¥ UEe 3T TR I 6 O § 9

B)ﬁﬂ%ﬁmmﬁ%@a%ﬁ@ R aﬁaﬁ%%ﬁa@mﬁaﬁmé‘r

C) e W W TR, I Ty U UEA U WE A @ TR e e A

D) Shadl 39 W99 T O 319 INET IR =R o 8

The motor vehicles belonging to educational institutions should be painted in:

A) Yellow Colour with blue strip B) Yellow Colour with red strip
C) White Colour with blue strip D) White Colour with red strip
AMerer Temst @ Aex T @@ e T e G s v

A) el 9eEt |fea @en @ B) ¥el Yedl afEa Qe @

C) el Yegl afed e D) ®w 9l afed ahg W

You are waiting at an intersection & lights are red. The traffic lights change to green.You should
1) Cross the intersection quickly as possible  1i) Check both side of intersection & then proceed
1i1) Wait until the traffic behind you makes you move

A) 1) only B)ii) only C) ii1) only D)i) and ii) only

Y T2 W U o @ 8 3R gl e 21 e afert 50 8 SRl 81 3T 6 AR

(i) et 5@t o B <liaet 9R o o (i) IRR & 9 W @ I T ==

(iil) I R I A T TF AT D NS G AR A9 H T & e T8 wEen

A)ad (i) B)&had (ii) C) =ad (iii) D) ®aa (i) 3R (ii)
You take a wrong route & find you are on a one-way street. You should

A) reverse out of road B) tun round in a side road

C) continue to the end of the road D) reverse into a drive way

T AT T W T 92 B 3 T U TR Tl # B 39 A AR

A) TS § A9 2y B) Ued &I WSF AR T

C) 95 & T T Taa Snan D) gawr At ¥ R

When should a driver use high beams?

1) driving through well lit city roads; 11) driving behind a vehicle;
ii1) when driver of an oncoming vehicle does not dim his lights

A) only 1) B) Only ii) C) Only ii) & iii) D) All 1), 11) & iii)
AeTeh hl TS SISl o1 JANT e el A1eg:

(i) T T ST I Il gSRl A TRA 7Y (i) BT @ 9IS WE T §Y

(iil) 99 9 ¥ 3 B AEE FO qradl B e A8
A)wad (i) B)Fad (i) C) dad (id) 3 (iii) D) &0 (i), (i) 3R (i)
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What is the “2-second Rule™

A) A rule of thumb by which a driver may maintain a safe trailing distance at any speed.

B) It indicates the speed of the vehicle

C) It measures the time between two vehicles

D) It indicates the intensity of the collision

“2 -G M w2

A) st Faw o & o Bl 3t TR W aeie 2 9w e

B)¥E aET I TR F AR Gehd e B

C) 8 A I D A qHg AT 2

D) ¥ TR & iadl S 3R DG el B

According to Central Motor Vehicle Rules, 1989 which rule is related to Seat Belts?
A)Rule 119 (1) B) Rule 125 (1) C) Rule 138 (3) D) Both options B) & C)
S A BT P, 1989 F IFAR wi-a1 Faw G dee) A dakE

AyFm 19 (1) B)F@a 125 (1) C€)Fmw3s (3) D) 2Fi fed B) 3k )
Traffic man straight his right hand till elbow then ups it and give signal with left hand?

A) To control the front traffic B) To control the back traffic

C) To control the staying traffic D) To control the back and front traffic at a same time
Sftheh a1 e S19 TR BT Wi oo e el € 3R fR 9 S Sor 2 sk 9 B
TR T B

A) 9 T A W el e e Rr

B) fise e @ Hafae o & B

C) & wwEE = FrfE w3 e

D) T & w9 9 9 3 s g @ fafa = @ R

What is second collision in crash (accident)?

A) Vehicle Collision B) Internal Collision
C) Human Collision D) Hitting other vehicle after first collision
goeA ¥ gEd T &

A) T T B) st e C) o car D) weeil Toe & 918 TR SIET S Toed Wl

Which one of the following is not the 4 Es of road safety?
fre=ifeee & & wi-1 U W9 Wen W 4-Bs 78

A) Education B) Engineering C) Emergency care D) Environment
Which of the following is true about the role of Traffic police in Road safety?
A) It regulates traffic B) It enforces various provisions of traffic rules

C) It performs educative role by launching awareness drives D) All of the above

g G ¥ AaEE gE 9 e @ W ¥ - 9

A)TE aEE St RFafe w7t 2 B)we awm Feel o Rfe seeast @ emg o

C) 97 SiRTeshdl v gw fenge sifenr Ferr 2 D) Ifag &%

In terms of road safety, what do you understand by the term “Golden hour”

A) That hour of the day in which minimum road accidents take place

B) That hour of the day in which maximum road accidents take place

C) The first hour after trauma in which if proper first aid is given, the accident victim has a

greater chance of survival and reduction in injuries

D) The time during which one can drive at any speed

T3 G & el A, AU A wol ue ¥ T s

A) RS &1 98 o1 W I5w gHeAt w9 ¥ wH Bl &

B) fa+ =T 9% WeT 919 ¥gsh gUeAN 99 ¥ i Bl B

C) ¥eA & s1e veen el f@ ¥ afY SR gl Swer fean o 2, @ ofewn 3 Gfe @ = e
T FER B § K Wil ¥ @l e 2

D) 95 w9d We |fad fhd W R W WS <ol |9 &

Under whose leadership ‘Rural Road Project’ was undertaken by Indian Government to spread
road safety culture?
A) Dr. Manmohan Singh ~ B) Atal Bihari Vajpayee C) Rajiv Gandhi D) Narendra Modi
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HRT SR B 99 Qe gegl & TOR & fow e & Age | uein wew yaiee e o T R

A) T wHET fiE B) 3ee e arsad C) Tsla TR D) = Ma
Road safety Audit makes critical on site assessment of the shortcomings in:

A) Road and traffic control system B) Challan of vehicles

C) Slope estimation D) Audit of police stations

TIFH TN I, HEE A R (FFE #) aiEa ¥ TeiET S B

A)TEF IR g Faae e B) arE= &1 Jeie

C) o &1 A D) gfera At it gz

Highway Assessment Programme (HAP) is concerned with:

A) Building new highway B) Scientific road safety audit through camera based recording

C) Building Toll Plazas D) Development on either side of highways

e I T S (HAP) e 3 sl 2

A) =T Hea At a1 B)®ww snenRa RemfEn grr amnfies wger ween vgae
C) Tt TSt T T D) 7= Wi & ot wid o e

The theme of National Road Safety week celebrated from January 11 to 17, 2023 was:

A) Safer Road for all B) Our Aim — Zero Harm
C) Savdhani Hati - Durghatna Ghati D) Sadak Suraksha, Jeewan Raksha

N TFEd ¥ 17 THEQ 2023 H WG KA 990 GRS 9

Aywh & fog gofde w5 B) &Rl YA - I B

C) 9@yl B¢ - ghe &t D) |S% TRel, SaT @&l

Hazard waming lights should be used when vehicle is :

A) In a traffic jam B) racing with other cars

C) being driven by a leamer D) broken down and causing an obstruction
TR I IATEA 9l Sl 6 TN 39 96T Al A8y O 9

A) TEEE W H B B) T $RI & @Y T @A

C) frendt uen @ A D) @O B 140 B 3K ThEe 5 @1 8
You are dazzled at night by a vehicle behind you, you should

A) Accelerate your vehicle & go farther B) Stop and let the vehicle cross you
C) Set your back-view mirror to anti dazzle position D) None of these

9 O & T TS 0 @ a6 F <A 9 F 39w AR
A) JU TET B AT TSt SR I | e wsh

B)%F W3 3R 9@ & I6 A @ @

C) Ju 92 - o 99 A dimEe - Rada Ry § ¥ =
D)TA A TR =& 2

The Pan-India emergency number for fire, police & ambulance etc. is

30T, gerE 3K W~ E & forw sftaer s ST SR 2

A)112 B) 101 C) 100 D) 108

As a conductor of CTU, 1t is not essential to keep contact number of

A) CTU bus depot in charge B) Emergency help number

C) CTU workshop D) State transport officer of Chandigarh
CTU & 5% & 8k | TS R I T TG AGIIE T 2

A) CTU & =@ 391 3aret a1 B) SISl ergal Sat

C) CTU s=9ma &t D) FSie & Ty uRaeT e

Which of the following is not the duty of the conductor

A) Deposit the collected money through tickets with the cashier
B) Guiding the driver while reversing the bus

C) Repairing the bus in case of breakdown

D) Answer the queries of the passengers in the bus
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FHIFK AN FHA FIT-A TE B

A) el 3 vafm 8 & ol B U 9 ST

B)=E & 92 9 IR Az & R ame & vema e

C) & B & WA A §E ol AT e

D) 98 ¥ ¥aiRal = 9T & I I

What is the validity time period for driving license for commercial vehicle
e R @ e R aede ey ww @ e du &

A) 1 year (&1e1) B) 2 year (41d) C) 3 year (911} D) 4 year (¥191)
Green arrow means

A) observe other signals

B) If other signals are indicating otherwise, do not proceed

C) If other signals are indicating otherwise proceed in the direction of arrow
D) wait for signal to allow you to proceed

= TR 1 Ao E

A) TR FHaS N AH @

B)aft T ¥ahas Ioel @ od 8, O N T W@

C) aft TW Hhaw Ieicl dod o 7, o AR o R F ==
D) 3R e & o s o Twien o

Road rage includes:

1) providing first aid to victims after accident ii) sounding hom or flashing lights excessively
1i1) rude gestures, verbal abuses & threats iv) intentionally causing a collision between vehicles
A)1) only B) 11), 111) and 1v) only C)i),1i) andiv) only D) all the above
wsF -9 ¥ e &

(i) Te & T DR A 90 ITR GEH HE; (i) T ST T Sl a SR W
el (1) S Gand, el A AR EIHAT 5 (iv) T A TS R TR HEFT
AymEa (i)  B)RaH (ii), (iii) 3 (iv) C) & (i), (ili) 3 (iv) D) Sudew aht
Collision prevention formula RUA stands for:

THFH B VF & G RUA &1 001 9 &

A) Recognize the hazard, Understand the defence, Act correctly

B) Road Unconscious Accident

C) Rear view mirror, Understanding traffic rules, Act Wise

D) Relaxed driving, Understanding traffic rules, Act Wise

FasTag is:

1) An electronic toll collection system in India

1) It is operated by National Highways Authority of India

u1) Its collection is utilized for maintenance of Highways

A) Only (i) B) Only (i) & (i)  C)Only () & (iii) D) all (i), (i) & (iii)
HET T
(1) 9IRT ® TS THT T A THECIE o

(i1) TV T &1 T - AT WIRRROr W e

(iii) 39 A THA g¥ N @ gEa wH A ae @ e vam R s @

A)ySad (i) B)@ad (i) X (i) C)Daed (i) 3 (i) D)= (1), (i) & (iii)
National Highways System is responsibility of:

A) State government B) Central government

C) Both State and Central government D) District authorities through which these pass
T e A o A R e w2

A) TS AT B) v &R

C) T 3R FvF WEHR 4 & D) foren siftremdat fomr § & o it soran
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Which of the following is not true about National Helpline No. 1033°

A)itisa 24 x 7 unique toll free helpline number for users of National Highways

B) It is a universal access number

() It 1s a single point contact

D) For accessing it, one has to affix district code before it ¢.g. 0172 within Chandigarh
T BT AET w6 1033’ B IR H D -9 FIT 98 A6 B

A) T & WA 1 TART R el & fore 98 24 x 7 Afediia o Jer Sedens A 3
B) 4 &NE I59 e 2

C) T% U -WEe 9 &

D) 36 9% T o forg, =it =l 3@ A gge Roen i e ugen @ o w@e ¥ 0172

Why ‘Bumpers’ are used in cars?

A) To reduce the impact in case of low speed collisions

B) To improve the aerodynamics of a car

C) To increase the engine performance

D) None of the above

FR A TR vE A e e E

A) T TR RN THERA I G0 A ST B e B oY

B) ®R &l IAaE! & guRA & fore

C) 399 & EueH & R & ferg

D) SHw ¥ ¥ i 0 A8 2

“Golden Hour” after trauma refers to:

A) First hour B) First 2 hours C) First 4 hours D) First 6 hours
A D e Wl ger’ R o 3k 9w @

A) vEeT Hel B)Usdl & We C) w8 4 | D) 959t 6 WS
Mouth to Mouth respiration is done during first aid if the victim is suffering from:

A) Cardiac Arrest B) Annorexia C) Haemorrhage D) Arteriosclerosis
H& ¥ v9a- a9 fhar wien @ gt Ofte R WA we A &

A) R = 2w B) &1 1 F¥E C) & &l ' D) &Rt - i
In first aid CPR stands for:

7o I5ER ¥ CPR & 94 ¥9

A) Cardio Pulmonary Respiration B) Cardio Pulmonary Resuscitation

C) Cardio Pressurized Respiration D) Cardio Pressurized Resuscitation

What do you mean by “Highway Hypnosis”?

A) Memory loss  B) Unpredictable moods/behaviors C) Drowsiness D) Muscle weakness

T T W EAET o e @
A)Fia &l Bl B) Siehfera feier /=@Er C) SeiteraT D) i &t wasd
The full form of FIRST AID is:

FIRST AID &1 991 &9 &

A) First Investigation Relief Symptom Treatment Arrangement Immediately Disposal
B) First Immediate Relief Symptom Treatment After Investigating Discase

C) First Immediately Relief Symptom Treatment Arrangement Investigation Disposal
D) First Immediate Redressal System Treatment After Investigating Disease

What is the first thing you should do in case of severe bleeding?
A) Put the victim in the recovery position  B) Direct pressure with clean cloth and hand

C) Cover with clean cloth D) Give Oxygen
STeafties W -89 S Bd § T Y Ul W A AT AR
A) Wi = e @t fufa 3 @@ B)¥Ih &S 3R = ¥ TS

C) 9% =T I TH D) JteerT o
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The symptoms of third degree burn are:
A) Charred skin, pain ~ B) Charred skin, no pain ~ C) Blisters and pain D) Red skin and pain
drad & &t See 9w e 2

Ayest g ), v B) ¥ g WS, W ¢ R

C) 3 3K =& D) &t R 3R

To assess, if a person has had a stroke, ask the victim to

A) Blow a kiss B) Tell his/her name C) Smile D) Stand up
IR i A P A, D R R @

A) T T I H FE B) &= A s & fow war

C) ¥e & fog =+t D) &gl 8+ & fom wer

The Rule of “ABC’ in the first-aid for road accident victim stands for:

g gHel & ARG B forg v IwR F ABC” & Faw oo ww w2

A) Artery, Brain and Cardiac B) Asphyxia, Brain Hemorrhage and Circulation
C) Airway, Breathing and Circulation D) Avoid, Brake and Control

What is 2™ injury with regards to accidents?

A) Caused by careless handling of injured

B) The injured gets up, falls and is injured again

C) It is 2™ in the marked injuries of a victim 1%, 2*® 3™ and so on

D) Death due to waste of time for completing formalities

TS & dey A @ Wi ¥ B

A) =G F ARAE | H T

B) WA« e Soan 7, e ot @ ok fawm e w2

C) = iR =t b I weeh, oof, Aok Tl ¥ T A
D) SiweRearal @ T wR B fore g i e R o ¥ 9

o ok ok



ENGLISH- PUNJABI VERSION

Direction (Q1-Q2): Mark the correct synonym of the given word out of the four options:

1. Jaded

A) Tired B) Thrilled C) Terrible D) Gay
2. Spurious

A) Precious B) Fake C) Gloomy D) Bitter

Direction (Q3-Q4): Mark the correct antonym of the given word out of the four options:
3.  Uncouth

A) Courageous B) Weird C) Dark D) Cultured
4. Wary
A) Arrogant B) Juicy C) Careless D) Weak
Direction (Q5-Q6): Mark the correct preposition, out of the four options, to be filled in the blanks.
5. Heedless consequences, Ramesh wasted his precious time in useless debates.
A) with B) of C)at D) upon
6.  This job is beset difficulties.
A)of B) with C)on D) at

Direction (Q7-Q8): Choose the correct meaning of the proverb/idiom from the given options.
7.  Tobe Argus eyed

A) Tobe observant  B) To be pretender C) Tobeacoward D) To be an idler
8. To give vent to

A)to express B)to cause trouble C)tolose courage D) to cut something into pieces
Direction (Q9-Q10): Mark the word that can be substituted for the given words/sentences out of the
given four alternatives.
9.  That cannot be expressed in words:

A) Indelible B) Ingrate C) Ineffable D) Inexorable
10. A lengthy and aggressive speech addressed to a large audience/assembly.
A) Hullabaloo B) Cacophony C) Pandemonium D) Harangue

11. The theme of 52™ National Safety Week is:
A) Nurture young minds — Develop Safety Culture B) Safety for all

C) Our Aim — Zero Harm D) Sadak Suraksha, Jeewan Raksha
52— gTHET Ha [PHT AUSTT ©F 8§ O
A) g=r fermar Ure - e fenm ARfq St & feafis aoaT B) Ag= H 14T
C) 3T Ha=-fnes sams D) A= Ha (4w, /ied afomr
12.  For the network of roads for Chandigarh, referred as “circulatory system’, Le Corbusier had
proposed:
UStorg BE! rEa € As o, fan § ‘Iagere e’ wirfuw e 9, #1 aragstHg €
YRS Hi:
A) 8Vs B) 7Vs C)6Vs D) 5Vs
13.  Who is credited for inventing the first crude electric vehicle?
A) Leonard Forbes B) Paul Lapstun C) William Morrison D) Robert Anderson

ufad waws feasel Toe & ge e fAge fan & 7 &
A)feGsgedsaa B)US Sunes C) fezgmii Hdtms D) drEae Msons
14. Green Muffler is:

A) Plantation along roadsides to reduce noise pollution B) A method of afforestation
C) A technology for reducing air pollution D) A process to reduce vibration
91& HeSd T

A) USET YEHS W Ja5 B ASF © 89T UHY Ue Sar@er  B) fagesiaqs <t feut

C) I'9 YTHS WS BTl ITaBH D) §974U¢ § WG T Yo

15.  Chandigarh was inaugurated by Dr. Rajendra Prasad, first President of India on:
A) 7" October 1956 B) 7™ October 1953 €) 23™ March 1953 D) 23" March 1956
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37, IHEd YATE, I93 € Ufad TReIUST, 3 9119 v Qewres g &g

A)7 MIZHT 1956 B)7 MaJHEd 1953 C) 23 99 1953 D) 23 H39 1956
The rationale of “Seat-belts’ primarily thrives on the principle of*

A) Inertia B) Gravitation C) Friction D) Doppler effect

‘e §set’ gr Iga-wmud ¥y 39 3 fan fagig 3 &g feer &:

INEEEy B) IE3< C) o= D) Sumd udtyE
Fundamental Duties were included in the Indian Constitution in:

A) Article 14 and 15 of Constitution of India B) Fifth Schedule of Constitution of India

C) Article 51A (Part IV A) of the Constitution of India D) The Indian Independence Act
393t Afeurs feg ys qe=< fan fev mg &1 9 Ao

A) 9793 € U™ € Wgee 14 »3 15 B) ¥793 ¥ Af<us & (a=t wigp<t

C) 93 © AfSUs € wmgee 51 € (AT IV ¥) D) 97931 HS a3 wifufem

The deficiency of which vitamin causes anaemia?

A) Vitamin D B) Vitamin B, C) Vitamin B, D) Vitamin By,

fags feerivs €t we 78 wahhyr ger o

A) feeis st B) feeivis &t C) feehis i, D) feerfs =,
Operation My Saheli’ launched in September 2020 aims to:

A) encourage self-defence education among girls B) boost awareness against child labour

C) boost the security of women passengersin trains D) none of the above
HI99 2020 feu9 wmrdg a3t it ‘mast fasT e e O

A) B3t § =3 oo faftenT BT @3fog agaT

B) ¥'% HHgd' feg 93537 § =u@er

C) IZ-arstmt feg »igg yaree ot pafun =@t

D) Budaz feg §et St st &

The State bird of Chandigarh is:

A) Northern Goshawk  B) Black Francolin C) Peacock D) Indian Grey Hombill
S T IaE it T

A) Gsdtew B) ar&T {339 C) Ha D) 393t AB et us-fasr
Ganesh Chaturthi, as per Indian national calendar is celebrated on:

A) Bhadrapada Shukla Chaturthi B) Shraavana Shukla Chaturthi

C) Ashvin Shukla Chaturthi D) Kaartik Shukla Chaturthi

9793 ¥ JTHSGT TSI MESHT JIEH IZIGT I HETEr /et I

A) gEUT HIS IIIET B) H'=< Ha® 939!

C) ufes gas ggqadt D) Faf3a gas ggadt

Mirror which is used as rear view mirror in vehicles is:

A) Plane B) Concave C) Convex D) Inverted

fragsT i svoet feg fug s Sys ewma safowraier 3,80 3 -

A) IH3E B) M35 C) €3 D) @=er

India’s rank in Global hunger Index 2022 amongst 121 countries is:
121 €t feg 993 €7 I8ES g Fua 2022 few 3 &

A) 107* B) 104™ C) 101* D) 99"

Before Delhi, which of the following was the capital of India during the British India?
A) Bombay B) Calcutta C) Karachi D) Lahore
fest 3 ufost, s937a<t 3793 AN 7793 € aaust faost it

A) St B) d%d a7 C) ga=t D) &dg

Which of the following has won BBC Indian Sportswomeﬁ of the year 2022 Award?
A) P.V. Sindhu B) Koneru Humpy  C) Smriti Mandhana D) Mirabai Chanu
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2022 A" € BBC 3793t HiosT fustdt e yawarg fan & fafamr 3:
A) ut. . fig B) dag Jut C) A3t raraT D) Higraret a7&
The value of 0.75 x 0.75 + 0.25 X 0.75 x 2 +0.25 x 0.25 is

0.75%x0.75+ 025 %075 x2+0.25%x 025 €TH& T :
A) 6.75 B) 1 C) 0.625 D)2

In a test 51% students failed in English and 45% failed in Mathematics. If 21% failed in both
subjects and 169 passed the test, then how many students appeared in the test?

foa ene feg 51% fefenag! woe! fes &5 T8 M3 45% fefongat afes feg s de &
21% &gt fefmt fog &% T8 A5 w3 169 & 202 UW a9 & v, 3t a8 fefenradtnt &
2he fesgr it

A) 760 B) 625 C) 676 D) 400

A sum of money amounts to Rs. 2750 in 2 years at 5% per annum. At what rate the same money
amounts to Rs. 3000 in 2 years?

fear 3o 5 % Yt Tow foma 3 2 Wt feg 2750/- UE T A J1 €5t g famreg 32
A&t f&g 3000 gue T AEai:
A) 12% B) 10% C) 15% D) 20%

If a sum of money doubles itself in 3 years at compound interest, then in how many years i1t wll
be four times?

A fea gan Soafedt feww 3 3 Ast feg garet § A 3, 3t feg fad met feg daret
J=ait:

A) 5 years (A™®) B) 6 years (A™®) C) 3 years (H™®) D) 4 years (')

A bought a radio for Rs. 500 and sold it to B at 5% gain. After sometime B sold it to C at 5%

loss. What is cost price of the radio for C?
A) Rs. 498.75 B) Rs. 375.60 C) Rs. 370.25 D) Rs. 480.60

ASfeadsiG sooque feg ydiferr w3 5% e g 3 BE g fEesT IgF M emE B3 C
B5% T S U fEsTIC R3S FE S semavz o

A) 498.75 gu¥ B) 375.60 guT C) 37025 gu¥ D) 480.60 JUT

The Average temperature of the town in the first four days of a month was 58 degrees. The
average for the second, third, fourth and fifth day was 60 degree. If the temperatures of the first

and fifth day were in the ratio 7 : 8, then what is the temperature on the fifth day?
A) 64 degree B) 62 degree C) 56 degree D) None of the above

HatE < ufod s fes mfas e #ing IS 58 fsaet Al ©H, 3H, 98 w3 (A< fos <t
WAz 60 f3art Al 7 ufo® w3 A fos € ISt o wigyg 7:8 3, St A2 fog o
IS &t T

A) 64 fzaEt B) 62 fzart C) 56 fgadt D) Qusas feg avt St aat d

A can do a work in 16 days. If B’s speed is double than A, then in how many days they together
can do the work?

Afegan S ilofest fes aomaer gl SBT3S0 ASH Taet d, I Quas fima €n
an & fas fest fev g9 Hae 7&:

A) 5% days (fe) B) 3% days (fe) C) 4% days (fex) D) 2% days (fe®)
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While covering a distance of 24 km, a man noticed that after walking for 1 hour 40 minutes, the
distance he covered % of the remaining distance. His speed in meter per second was

24 fa@lzs €t gdt § 3 wafent, feg fenaat & efierr fa 1 Wier 40 file I8 T ame, 3
NSt gt sl gat & 5 A 3 ot 19 o ama et few I e i

A)1 g m/seconds B) 2 m/seconds C)2 ?i- m/seconds D) 5 m/seconds

In what ratio two types of tea costing Rs. 15 per kg and Rs. 20 per kg are mixed so that cost
price of the mixture is Rs. 16.50 per kg?

15 guE Y=t fa@ar w3 20 3u¥ 3t fadamy €t &1z svg St grg St @ fammt & foor
nigurg few fugr fegr aier I 3ifa fiuns & g avg 16.50 gue y3t fagarm § At &
A)5:6 B)4:3 C)6:7 D)7:3

Naunihal was asked to multiply a number by 7/5 but by mistake he multiplied the number by

5/7. If his answer was 144 less than correct answer, the number was

Sfsa® & feg At § 7/5 &% e da5 et faar famr it ue ©w & a3t &% 67 ffanr
& 5/7 5% greT 99 fe 3T | 7 Aot €99 &8 Gw v €39 144 we A, 3t Afewr #:
A) 210 B) 310 C) 284 D) 264

Each student of a class deposited so many rupees in subscription for Picnic, as many as the
students were in the class. If 3 teachers deposited together Rs. 450 then total subscription was
Rs. 1350. What was the number of students in the class?

fear a@™ @ g99 fefenradt 3 fuafsa &t 92 feu €5 que Ayt o= f58 asw @
fefenmadt wa1 7 35 mfewuat & i & 450 JUE Ay G9<78 I T8 GET 1350 gue Tfewm
a&H o9 fefomragtt &t Aftpr faaT vl

A) 35 B) 40 C) 30 D) 45

What could be the maximum value of Q in this equation? 5P9 + 3R7 +2Q8=1114

fer mitass few Q = nifuasw e ot T Ager 3: 5P9 + 3R7 +20Q8 = 1114
A)9 B) 4 C)8 D)6
How many times are the two hands of clock at right angle in a day.

fea oz feg w2t &t € gebu {3t =7at mide 3 gehn o

A) 24 B) 48 C) 44 D) 22

Calendar for the year 2014 will be same for the year.

A& 2014 €T g&37 H'® B AH'S J=arm:

A) 2018 B) 2020 C) 2022 D) None of these

A 600m long train 1s running at a speed of 108km/hr. In how much time will it cross electric
pole.

600 m Ft IHAST 108 km/hr € 38379 575 €3 301 J1 feu fdd av few famst e 48 S aw
og B4t

A) 35 seconds B) 10 seconds C) 20 seconds D) 18 seconds

The technology used in the electronic printer is called?

A) Micro encapsulation B) Micro technology ~ C) Micro array D) Micro Millimetric
A) BYH JUFBIEES  B) B SF&BAT  C) FuH S D) mu fuzhitfes

Clock speed, the speed at which a processor executes instructions, is measured in
which equates to one million ticks of the system clock.

A) kilobytes (KB) B) milliseconds (ms)

C) megahertz (MHz) D) kilo-bits-per-second (Kbps)

— =" S
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asTe €t ardt, fam It 3 Uing foerfest & wighes a9e7 J, & feg Wi ger
faost favey aera € foa st feafea € S99 T:

A) fa@=reten (KB) B) fH&WESH (ms)
C) Hargded (MHz) D) fa® - faen -yt Aa= (Kbps)
When you cut or copy a block of text in a word processor, it is placed on the
A) desktop B) style sheet C) ruler D) clipboard
Ao gt Sog Uind feu Same e s g de At aee §,fem g Guedfmr Aier o
A) SHaY B) HSTEI® Hi C) 389 D) afsusds
An unsolicited e-mail message sent to many recipients at once is a :
A) Worm B) Trojan horse C) spyware D) spam
fed =9 973 W9 YyuSIafant § Wads S-S eR
A) T B) W& JoH C) AUERmT D) AU

Convert the Hexadecimal number 5A to Binary?
JEATSHNE &899 5A & gEiadl feg wes:
A) 01011001 B) 01001010 C) 01011010 D) 01000100
In “https’, the letter ‘s’ stands for:
‘https’ few ‘s> wiyg fam =Wz O
A) Standard B) Secure C) Simple D) Smart
Which of the following 1s NOT TRUE?
I5 fafumt feg faozr rat &3t &
A) RAM means Read Accumulator Memory
B) MICR means for Magnetic Ink Character Recognition System
C) ROM means Read Only Memory
D) ASCII means American Standard Code for Information Interchange

In MS-WORD, the following is not essential component to perform a mail merge operation?

A) Main document B) Data source C) Merge fields D) Word fields

MS- €93 feu, H& Had Sudns a9 T3 Jo it feg fausT niema wea aat O
A) HY EH3'<d B) ¢TI C) HoA S18%3d D) <93 3183w

In Microsoft PowerPoint, the PowerPoint view that displays only text (title and bullets) is:
A) Slide show B) Slide sorter view C) Notes page view D) Outline view

HTEtgHee Ursauntiee feg, uugunfee <€ frosr d=% Cane oeies w2 8w §
Yoz geer 3,89

A) ASES & B) A&Els Hacd fe@ C) Sermurfe@ D) wrlems <&
Which of the following statements is correct?

A) An excel file may contain only one pivot table.

B) An excel workbook may contain only one pivot table

C) An excel workbook may contain multiple worksheets

D) An excel spreadsheet may contain multiple workbooks

J& fafurt fev’ faos ags 7ot &

A) WaHS gt e dew foq fuze 29® T RaE T
B) MoR® Tgagd feu d=% fea fu=e 298 T Ager I
C) MaAs <gagd feg gufey Saanter § Hae’ I8
D) wans musHe fou sofen sagan T maehit 7



Instructions for (Q.No. 51 to 54) are based on traffic signs. Choose the correct options:-

fsaem(51-54 39 & ynst) 2fea fogt Qua wrarfaz 951 Aot feawut ot 9= a9:

51.

52,

53.

54.

55.

56.

57.

A) Breadth limit B) Axle weight limit

C) Height imit D) Weight limit

A) gt "HivT B) "aA% g7 HiHT

C) Guret Fvr D) 74 HiT e
A) Compulsory keep left B) Compulsory turn left ahead
C) Park this side D) Compulsory tumn left

A) 49 gfasT mifast 3 B) M dl 4¥ HI&T vifs=rdt T
C) ferr uw ygg a9 D) ¥¥ HZa™ ifserdt T

A) No parking B) No entry

C) Restriction ends D) None of the above

A) ursfaar HgT & B) Y=H HET T

C) IHIH I T D) Qudas feg agt St 5t
A) Right reverse bend B) Right hair pin bend

C) U-turn allowed D) No U-turn

A)RH BT g B) A a9 i

C) U- HZ &t mighat 3 D) U-Ag SfAa T

One of the following is a Mismatch?

J& fafunt fog fea s 9

A A A\

A} Left Reverse Bend B} Narrow bridge (') Staggered intersection
uu @meriim =L RIS nedEs feaians

Allowing unauthorized persons to drive vehicles carries the following penalty under the Motor
Vehicles Act:

A) Caution by the Traffic Policeman

B) A fine which may extend to five hundred rupees

C) Imprisonment for a term which may extend to three months, or with fine which may extend
to one thousand rupees, or with both

D) Imprisonment for a term which may extend to two months, or with fine which may extend to
one thousand rupees

W=y fomad § T9e s @ WaHst O 5% Hed e wiafse wls I fafunr
T T AIET T

A) <fea ufen =8 fagr=al

B) UH K gUT 3 T §oHaT

©) ﬁameﬁﬁﬁvhn@s@%%aﬁmwm%,ﬁm%wmﬁgfw
JHTd JUT 3T YT AT AIET I, MT €% I

D) feq n=dt €t aw fan § 2 WdE € et Tuer A AaET I, w3 gonE ¥ o fan § few
JH9 JUT 3 U AT AaET

D} Hospital ahead
W ELUEY

Mandatory Road Signs are obligatory and violation of these attract heavy fines and punishments.
These are generally:

A) Rectangular in shape with red border
C) Round in shape with red border

B) Rectangular in shape with blue border
D) Round in shape with blue border
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WeR-yUS AR 98 wmfset g5 M3 fog © §3we &% g5t gos™ W3 €8 T AET J
fea W agd 75 :
A)TTITHE T AITIRTS € B) 3B THIE @B A3 AT HaS &

C) S THE B AT WAd HAS € D) 31F ITHIE T 318 Wad HaS &

A traffic sign in triangular shape with red border, filled with white colour and a small and a
black cross in between means:

A) No Parking B) Cross Road C) No stopping D) Road ends

FE THE T% fgaTad mEg € cfea Uy, fugr Aew da1 &8 gfonm 92 w3 fegr
fegaa W 3 T g d=, feR e H3BT &

A) urafarer HgT & B) &' RSd C) 3FETHET T D) ASd H3H gt T
The Traffic offences, penalties and procedure are mentioned under which chapter and sections of
the Motor Vehicles Act?

A) Chapter X : Section 140 to 144 B) Chapter X1 : Section 145 to 164
C) Chapter XII : Section 165 to 176 D) Chapter XIII : Section 177 to 210

fear viuam, €3 w3 Toa-feut o €8y Heg Twe wmiufauy € fauz Sues W3 Toef
WS StaT faprr &

A) TUed X : 140 T 144 grgr=t B) SUed XI: 145 3 164 ggret

C) SUST XII : 165 T 176 graret D) Jyzd XII1:177 3 210 gra'=t

Provision for necessity of licence for conductor of stage carriage is contained under M.V. Act in :
A=T5T Heg © d3ded B¢ BAA €t e na3T &g feenar Heg swe sfufsway €t fagst aar
feg aigt ot O

A) Section (@™d7) 28 B) Section (T™@") 29  C) Section (T™d7) 39 D) Section (TTIT) 42
Which vehicles should be insured?

A) Only new vehicles B) All light and heavy vehicles

C) Heavy vehicles only D) Only vehicles being driven by drivers
fags Tost g gy g IdteT &

A) ITT 32 TUE B) A'd I%& W3 grdl IS

C) 9<% gdt TIE D) 92% 89 @8 IBT AT IJ IS

What does this STOP sign mean at an intersection if used with a thick white line painted across
part of the road?

A) Stop in any safe place so that you can see to give way to other traffic, before continuing
B) Stop just before entering the intersection and then give way to other traffic, before
continuing,
C) Stop at white line & give way to other vehicles coming from other directions, before
confinuing
D) Stop only after you have crossed the intersection
gog 3 few STOP 195 e ot H3®a I 7 fen €t =93 A=w € fea gwar 3 Y9 Uz a1t et
feet mets Afog st A=
A) fai & gafionrs ot 3 u3 37 fa i S5 Fufost gt ew Sea S oAeT o /A
C) AT BTEI5 3 3&, W3 98 3 ufow gd Ul 3 wir 9 JaaT Toet § angT fe€
D) 3=% 87 8 g9 A% A 999 U &9 {3
The motor vehicles belonging to educational institutions should be painted in:

A) Yellow Colour with blue strip B) Yellow Colour with red strip
C) White Colour with blue strip D) White Colour with red strip
frafir it € Hee Toet & faw Ja1 few Ue &g arer gter &

A) B1&t Ut ANg UlsT dar B) &% U AN UlsT dar

C) a8t uU'dt mig foer dar D) % U2 AN fger gar
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You are waiting at an intersection & lights are red. The traffic lights change to green. You should
i) Cross the intersection quickly as possible  ii) Check both side of intersection & then proceed
111) Wait until the traffic behind you makes you move

A) 1) only B) i1) only C) ii1) only D) 1) and i1) only

oAt 999 3 3w o 99 T W ST 3% I5| Sfed gt aEbut § AtET 981 3T
grdter 3

() e Aee T ge T U A B2 (i) 99 © SuF Uit & €8 3 feg nidr 98
(iii) €= 29 @3t a9 i fog gus fuss Sfea 308 oo &9 &dt afjer

A) TEH (i) B) 3= (ii) C) a=H (iii) D)d=® ()M (ii)
You take a wrong route & find you are on a one-way street. You should

A) reverse out of road B) turn round in a side road

C) continue to the end of the road D) reverse into a drive way

I 953 g 3 U oF T w3 gt fewr umim 9t few §1 398 gter O

A) A3q 3 TURAHS B) U'H €1 A9 B HS

C) A=d € W3 39 98¢ 79 D) y=H Haar feg 13

When should a driver use high beams?
i) driving through well lit city roads; ii) driving behind a vehicle;
iii) when driver of an oncoming vehicle does not dim his lights
A) only 1) B) Only 1) C) Only ii) & 111) D) All 1), 11) & 1i1)
FEleg § o8 i T @93 @< deat I9iel O
(i) Afge byt Sait Iuat @yt AT TSt 9% 9T ; (i) TO< € fug geie gee 9T
(i) A€ AraHf=E wr faor T e greteg »iuShdt Freter HuW &4t daer

A) TEF (i) B)d=® (i) C) I (i) F (ii1) D) A Tt (i), (ii) M3 (iii)
What is the “2-second Rule™:
A) A rule of thumb by which a driver may maintain a safe trailing distance at any speed.
B) It indicates the speed of the vehicle
C) It measures the time between two vehicles
D) It indicates the intensity of the collision

“2-Faw faud” &t T
A) fege fowv fam ov% grei<q far <t 9839 3 Fo a3 Sfdar gdt e Al
B) few Tg< €t 93w =8 fadg Faer ¢
C) feg € o=t fegara mit T I
D) feg 259 &t Slagzr ¥ Igz gaer @
According to Central Motor Vehicle Rules, 1989 which rule is related to Seat Belts?
A)Rule 119 (1) B) Rule 125 (1) C)Rule 138 (3) D) Both options B) & C)
&'adt Hed =ge fauMt, 1989 »igHtg, fagar faud Fie 82 &7 fAdfuz O:
A) fsm 119 (1) B) faemi 125 (1) C) famnr138(3) D) &= feasu (B) W2 (C)

Traffic man straight his right hand till elbow then ups it and give signal with left hand?
A) To control the front traffic B) To control the back traffic
C) To control the staying traffic D) To control the back and front traffic at a same time

w3 4% 77 &% fewrer gger &

A) oS o8 Sfeg §aes aas B8t B) fued Sfeq § d<s 995 BT

C) ¥2 ¢fea & 925 a95 &€ D) feq A mronE =8 w3 fusd Sfeq & 3¢5 995 Bel
What is second collision in crash (accident)?

A) Vehicle Collision B) Internal Collision
C) Human Collision D) Hitting other vehicle after first collision
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ToweeT feg grt cag ot &

A)TIS cad B) "Eds! ad

C) oyt ede D) yfyst €99 3 ge g1 TUS § T Haa!
Which one of the following is not the 4 Es of road safety?

35 fafunt few fagsT fear A=a FaftenT ar 4-Es &d1 3

A) Education B) Engineering C) Emergency care D) Environment
Which of the following is true about the role of Traffic police in Road safety?
A) It regulates traffic B) It enforces various provistons of traffic rules

C) It performs educative role by launching awareness drives D) All of the above

A=d e (v few Sfea ufew & givar a7d fagsr Aet 9:

A) feg Sfea m‘«-s'f?;mﬁgaaﬁrzr B) fev Sfea fomnit &t fefds fesma=t S s aeel 9
C)WWWWM@W fsg@at T D)Quafro'mzﬁ

In terms of road safety, what do you understand by the term “Golden hour”

A) That hour of the day in which minimum road accidents take place

B) That hour of the day in which maximum road accidents take place

C) The first hour after trauma in which if proper first aid is given, the accident victim has a

greater chance of survival and reduction in injuries
D) The time during which one can drive at any speed

HSd Ja ot € maet feu, 3t ‘mefodt e’ St g= 8e o

A) fea v U e A€ A9 3 W2 ASd gqwesT= et 98

B) fes T €7 vier A A9 T €U NS ToWEa = JepdT 98

C) men 3 gmie ufosT uier fan feg 7 €fes vesl saedt mofesr @ fost A<t g, st
TouwesT Uifs3 © 59 € @'l WTHE J€ 98 W3 9 feg andft gt @

D) Gu mt AT fomadt fan St agge I st o R T

Under whose leadership ‘Rural Road Project’” was undertaken by Indian Government to spread
road safety culture?

A) Dr. Manmohan Singh ~ B) Atal Bibari Vajpayee C) Rajiv Gandhi D) Narendra Modi
9793 HId'd €T ASd Ha (4T ARTGST © YRS Bel fan &t migrere few amite na {dae’
I 13T fapur H:

A) 3T.HaHIE AW B)wiewm fagt gAUet Q) ITHi= gt D) sd'€d Het
Road safety Audit makes critical on site assessment of the shortcomings in:

A) Road and traffic control system B) Challan of vehicles

C) Slope estimation D) Audit of police stations

ASd He fodT US3'%, aibit e Hd 3 (fam &) adlasiat 5% Yaias godt O

A) FSd WS <led g HAeH B) €US €T 986

C) EB'E T SHS D) ufew renst € usa®

Highway Assessment Programme (HAP) is concerned with:

A) Building new highway B) Scientific road safety audit through camera based recording
C) Building Toll Plazas D) Development on either side of highways

HY HaaT H&Tae UarH (HAP) fam &= fifag &

A) 3= MY Hrgar @7

B) aHaT »irgtfea faamafsar ot fefornaa Aza pa fonrr uszs

C) 2& umTat e faanrs

D) HY H'aaT € fan uH e feaw

The theme of National Road Safety week celebrated from January 11 to 17, 2023 was:

A) Safer Road for all B) Our Aim — Zero Harm

C) Savdhani Hati - Durghatna Ghati D) Sadak Suraksha, Jeewan Raksha
11 A&<dt 3 17 As=at 2023 feu W&™8 THed! AZa Ba fuwi € g At

INR:ER R C I ERErC B) A/3T 3= - (A= sams

C) AEUTaT I3t - gIWesT Wl D) A= ga T, wies g
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Hazard warning lights should be used when vehicle is :

A) In a traffic jam B) racing with other cars

C) being driven by a learner D) broken down and causing an obstruction
439 @ I3t T Eht gt O =93 @1 AN a9at ITOiEt 7 A9 IS

A) Sfea s feg 3= B) g+t arat 578 I3 faur 3=

C) frfarraet g faur 32 D) ¥a'g J fopdT 9€ w3 garee 5e faur 52

You are dazzled at night by a vehicle behind you, you should

A) Accelerate your vehicle & go farther B) Stop and let the vehicle cross you

C) Set your back-view mirror to anti dazzle position = D) None of these
oAt 973 2@ wuE fug wrad Toe 3 gfowr 719 §) govd adler &
A) MU TS § A FT 3 Ml g9 feas 78

B) 3& A8 W3 IS § #idl foaw are o€

C) wuE fuss-fenet din & Sfowge-feadt Rfgdt feg Aead

D) fegt feg agt St aat

The Pan-India emergency number for fire, police & ambulance etc. 1s

»ar, ufen W3 Fat-a7 st € HS Aa=-97d3 Adea &t $89 J ¢

A)112 B) 101 C) 100 D) 108

As a conductor of CTU, it is not essential to keep contact number of

A) CTU bus depot in charge B) Emergency help number

C) CTU workshop D) State transport officer of Chandigarh
CTU © d3ded <4, T AUTS 39T MTUS T JYST M= R &91 9 ¢

A) CTU € g7 31U fesgaa e B) A& AITE3T 399

C) CTU Sgauy &r D) §51913 € g mirevre wfuarat €

Which of the following is not the duty of the conductor

A) Deposit the collected money through tickets with the cashier
B) Guiding the driver while reversing the bus

C) Repairing the bus in case of breakdown

D) Answer the queries of the passengers in the bus
faggrgeg= asdeg oot &

A) feaet 3 fed'sT Ifemm UAT va&ot 3% AT Jg@'@aT

B) a7 § fuE =% Has sfamt sret=e &1 vee agaT

C) ya™ I ©f g9z feg g1 & HoH3 J357

D) ¥ feg Aedwi € yRsT T @39 g

What 1s the validity time period for driving license for commercial vehicle

SUTHY I ST BE FTEILIT BAA € YHEI3T € AT O

A) lyear (A™S) B) 2 year (H™®) C) 3 year (A™®) D) 4 year (A™®)
Green arrow means

A) observe other signals

B) If other signals are indicating otherwise, do not proceed
C) If other signals are indicating otherwise proceed in the direction of arrow
D) wait for signal to allow you to proceed

RERCI CRSAR L 2: IR

A) TH frasst o fous 78

B) 7 oW fioss 8 1a3 foe 05, 3T mar a7 =0

C) g+ fHas® G%er Aoz foe 75, 3t So &l femr e o8
D) % dl 9 &< B! fAaes e fE3gg ag

Road rage includes:

1) providing first aid to victims after accident 1) sounding horn or flashing lights excessively
1i1) rude gestures, verbal abuses & threats 1v) intentionally causing a collision between vehicles
A) 1) only B) i), i) andiv)only  C)1i), iii) and iv) only D) all the above
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AS9-99 feu ariis 3

(i) TowesT 3 gove Uifaat § Hes! sTacat AgTesT YT J957 (i) 98 SreeT AF g3t
& wItufus 287 aeaT (iii) wivme 7a3, 7Eat Irst Wi mHahyt

(iv) T9<t fega9 ' §¥ & ¢od da=gar

A)ITB (1) B) =S (ii), (i) M3 (iv) C) =S (i), (iii) M3 (iv) D) Gudas 7ra t
Collision prevention formula RUA stands for:

a9 daS T HSTRUA €T USs gy &

A) Re*cognize the hazard, Understand the defence, Act correctly

B) Road Unconscious Accident

C) Rear view mirror, Understanding traffic rules, Act Wise

D) Relaxed dnving, Understanding traffic rules, Act Wise

FasTag is:

1) An electronic toll collection system in India

11) It is operated by National Highways Authority of India

1i1) Its collection is utilized for maintenance of Highways

A) Only (i) B) Only (1) & (i1)  C) Only (i) & (iii) D) all (1), (11) & (111)
gHSIT I

(i) 3793 fou 3% fea 39 aos o fedaesa famen

(ii) fem & 9793 &1 gt HYy-H'IaT A3 HOTfB g aaet &

(iii) ferr 3° feego 98 UF & Hy-Haar &t 98 @3 93 A aret §

A) T=F (i) B)d=® ()W (i) C) =% (i) M2 (i) D) 7Ta (1), (i) "3 (iii)
National Highways System is responsibility of’

A) State government B) Central govemment

C) Both State and Central government D) District authorities through which these pass
gHed! HY HiaaT fAme faw &t fi=t 3

A) 9 Hed9 B) d'T9 A9

C) I° M3 d'Td AIa'9 &< ot D) fa@T nifuardt fagt aet feg gramer
Which of the following is not true about National Helpline No. ‘1033’

A)itisa 24 x 7 unique toll free helpline number for users of National Highways

B) It is a universal access number

C) It is a single point contact

D) For accessing it, one has to affix district code before it e.g. 0172 within Chandigarh
gHed I8 BEs 399 1033 979 fausT aEs At &t O

A) THSI HY-HTEal © 93 ot T 8T 24 x 7 vid 9t 88 ya g IB3umdts 899 &
B) feg formuya g9 S99 T

C) feg feg—umriee frugar I

D) few 3 ugge B, femast § fen 3 ufost fawr &3 gar@er Uer § fa= ¥t feg 0172
Why ‘Bumpers’ are used in cars?

A) To reduce the impact in case of low speed collisions

B) To improve the aerodynamics of a car

C) To increase the engine performance D) None of the above
grat feg Gyt <t =93 faf it 7t T

A) We g839 BT Zaat ©f He feg yz= § wes mEt

B) @ € T g-aif3dt & HU9s et

C) fém= T durss feg pua met

D) Qudag fev avt &t 5t 3

“Golden Hour” after trauma refers to:

A) First hour B) First 2 hours C) First 4 hours D) First 6 hours
HeH 3 g ‘gafadt e fan €% f9g gaer

A) ufgsT drer B) ufo® & u[e C) ufa® 4 w2 D) ufg® 6 Ul
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Mouth to Mouth respiration is done during first aid if the victim is suffering from:

A) Cardiac Arrest B) Annorexia C) Haemorrhage D) Arteriosclerosis
49 5% A 3 fegT AeT § # Uifss fan 3o 3 sasie fev & :
A)fegerdear B)gue mgw C) gg e U™ D) tHaT & widsd
In first aid CPR stands for:

He®! dedl AUTfesT few CPR €7 Yas gy &:

A) Cardio Pulmonary Respiration B) Cardio Pulmonary Resuscitation

C) Cardio Pressurized Respiration D) Cardio Pressurized Resuscitation

What do you mean by “Highway Hypnosis™?

A) Memory loss B) Unpredictable moods/behaviors C) Drowsiness D) Muscle weakness
It HYHITT Algs S eI 8 &

A) WEHI €T 3aNs  B)wsfom d/fesud  C) €3terue D) Unbat & anraet
The full form of FIRST AID is:

FIRST AID €T Y35 3y

A) First Investigation Relief Symptom Treatment Arrangement Immediately Disposal

B) First Inmediate Relief Symptom Treatment Afler Investigating Disease

C) First Immediately Relief Symptom Treatment Arrangement Investigation Disposal
D) First Immediate Redressal System Treatment After Investigating Disease

What is the first thing you should do in case of severe bleeding?
A) Put the victim in the recovery position B) Direct pressure with clean cloth and hand
C) Cover with clean cloth D) Give Oxygen

wIifad 3-=0 € & T53 few gums ufos™ av &t ggsT gdter o
A)Wifsz dys-wet e rfesi fegad  B)Asaus M3 T8 5B el
C) A= qUT &% o D) wigHtds fe&

The symptoms of third degree burn are:
A) Charred skin, pain ~ B) Charred skin, no pain  C) Blisters and pain D) Red skin and pain

it faoat ©f Ame Ot gt foratit o5:

A) FSt 98t anSt, gae B) At g€t anSt, aet @ew &t

C) 88 »3 v D) &% 9T M3 €aT

To assess, if a person has had a stroke, ask the victim to :

A) Blow a kiss B) Tell his/her name C) Smile D) Stand up
H fewast & réa wifen 32, few &t 7 a9 st Wifsz &

A) feg vt e et ag B) WTyET 5 €A Y |

C) TRE Bt da D) g I st ad

The Rule of ‘ABC’ in the first-aid for road accident victim stands for:

AId gouesT € Uifea a8t vest staedt mofear few ‘ABC’ @ fao eryes gu &t &
A) Artery, Brain and Cardiac i B) Asphyxia, Brain Hemorrhage and Circulation
C) Airway, Breathing and Circulation D) Avoid, Brake and Control

What is 2™ injury with regards to accidents?

A) Caused by careless handling of injured

B) The 1n_;ured gets up, falls and is injured again

C) Itis 2™ in the marked injuries of a victim 1%, 2™ 3™ and so on

D) Death due to waste of time for completmg formalities

TouwRaet € AT feg gt Seat 9

A) wfew & gfonat s st fors

B) wrfew femadt Ooer 7, f3ar Afer I w2 feg e saet 7

C) fea Wifigs Shut ifare Fet ufst, o, St wfe few ot e

D) Quuraa3T= YT g9a SEt AWt wfenT g9% d9d NI

ok k



CHANDIGARH TRANSPORT UNDERTAKING
U.T., CHANDIGARH

BUS CONDUCTOR TEST (16-07-2023) (Morning)

ANSWER KEY (A-Series)

Q.No. Ans. Q.No. Ans. Q.No. Ans. Q.No. Ans.
1 A 26 B 51 C 76 B
2 B 27 C 52 A 7 D
3 D 28 B 33 C 78 D
4 C 29 B 54 B 79 C
5 B 30 A 55 D 80 A

6 B 31 A 56 C 81 D
7 A 32 A 57 C 82 C
8 A 33 A 58 B 83 C
g9 C 34 D 59 D 84 C
10 D 35 A 60 B 85 B
11 C 36 C 61 B 86 A
12 B 37 A 62 C 87 D
13 D 38 D 63 A 88 B
14 A 39 B 64 B 89 D
15 B 40 & 65 C 90 A
16 A 41 A 66 C 91 A
17 C 42 [ 67 A 92 A
18 D 43 D 68 D 93 B
19 C 44 D 69 D 94 C
20 D 45 C 70 C 95 A
21 A 46 B 71 D 96 B
22 C 47 A 72 C 97 B
23 A 48 D 13 C 98 C
24 B 49 D 74 B 99 C
23 D 50 C 75 A 100 A




